Phone: 1.888.912.3151 Fax: 1.601.399.5077

Online: www.howardcomputers.com



Howard Computers P.O. Box 1588 Laurel, MS 39441

Online Quotation

Quote No: AT6 1154530.00
Customer Name: NICOLE ODOM

Company Name: Children's Trust of Alachua County

Quote Name: UPSTAIRS BOARDROOM

Quote Date: Phone Number: Fax Number: October 13, 2021 3523741824

Item 1

Category	Description	Qty.	Unit Price	Ext. Price
System Type:	Accessories			
1:	Da-Lite Tensioned Cosmopolitan Series MPN: 20882L	1	\$2,154.00	\$2,154.00
2:	Epson PowerLite L630U - 3LCD projector - 6200 lumens (white) - 6200 lumens (color) - WUXGA (1920 x 1200) - 16:10 - 1080p - 802.11n wireless / LAN MPN: V11HA26020	1	\$2,752.00	\$2,752.00
3:	LG 75US340C2UD - 75' Diagonal Class US340C Series LED-backlit LCD TV - hotel / hospitality - 4K UHD (2160p) 3840 x 2160 - HDR MPN: 75US340C2UD	2	\$1,799.00	\$3,598.00
4:	Universal Projector Mount (2nd Generation Interface Technology,White) MPN: RPAUW	1	\$119.00	\$119.00
5:	8' (203 mm) Ceiling Plate, White MPN: CMA110W	3	\$49.00	\$147.00
6:	9-12' Adjustable Extension Column MPN: CMS009012W	1	\$74.00	\$74.00
7 :	FUSION™ X-Large Single Pole Flat Panel Ceiling Mounts MPN: XCM1U	2	\$200.00	\$400.00
8:	18-24' Adjustable Extension Column MPN: CMS018024W	2	\$98.00	\$196.00
9:	3-Series® 4K DigitalMedia™ Presentation System 350 MPN: DMPS3-4K-350-C	1	\$5,583.00	\$5,583.00
10:	DigitalMedia 8G+® 4K60 4:4:4 HDR Receiver & Room Controller 100 MPN: DM-RMC-4KZ-100-C	3	\$503.00	\$1,509.00
11:	7 in. Tabletop Touch Screen, Black Smooth MPN: TS-770-B-S	1	\$726.00	\$726.00
12:	DigitalMedia 8G+® 4K60 4:4:4 HDR Wall Plate Transmitter, Black MPN: DM-TX-4KZ-100-C-1G-B-T	2	\$554.00	\$1,108.00
13:	DM Lite – HDMI® over CATx Receiver, Surface Mount MPN: HD-RX-101-C-E	2	\$183.00	\$366.00
14:	DM Lite – HDMI® over CATx Transmitter, Wall Plate, Black Textured MPN: HD-TX-101-C-1G-E-B-T	2	\$255.00	\$510.00
15:	Decorator Style Faceplate, 1-Gang, Black Textured MPN: FP-G1-B-T	4	\$6.00	\$24.00
16:	High-Efficiency Power Pack MPN: PW-5430DUS	1	\$168.00	\$168.00
17:	Wall Mount Power Pack, 24 VDC, 0.75 A, 2.1 mm, Universal MPN: PW-2407WU	3	\$39.00	\$117.00
18:	Wired Ethernet Module with 4 Relay Ports MPN: CEN-IO-RY-104	1	\$625.00	\$625.00
19:	Dual 300 watt per channel commercial amplifier MPN: CSA2300Z	1	\$625.00	\$625.00
20:	Full-Range Satellite Pendant Speaker (White, Pair) MPN: C65P/T-WH	8	\$469.00	\$3,752.00
21:	12x8 audio server w/ USB audio, a 2-channel VoIP, FXO telephone interface MPN: TesiraFORTÉ AVB VT	1	\$2,232.00	\$2,232.00
22:	The Tesira EX-MOD is a modular expander device MPN: Tesira EX-MOD	1	\$1,045.00	\$1,045.00

23:	4 Channel AEC Input Card Kit MPN: SEC-4 CK	2	\$469.00	\$938.00
24:	5-port AVB-capable network device with 4 PoE+ Ports with 120W budget MPN: TesiraConnect TC-5D	1	\$886.00	\$886.00
25:	USB Audio over AVB TX/RX kit MPN: Tesira EX-UBT	1	\$388.00	\$388.00
26:	Quad-Channel Digital Wireless Receiver (H50: 534 to 598 MHz) MPN: ULXD4Q-H50	4	\$4,577.00	\$18,308.00
27:	Wireless Gooseneck Base Transmitter MPN: ULXD8-H50	1	\$388.00	\$388.00
28:	15' Gooseneck Condenser Microphone, Cardioid MPN: MX415/C	1	\$240.00	\$240.00
29:	Rechargeable Lithium-Ion Battery MPN: SB900B	17	\$83.00	\$1,411.00
30:	8-bay Networked Docking Station with Power Supply MPN: SBC850-US	2	\$871.00	\$1,742.00
31:	Antenna Distribution System MPN: UA844+SWB/LC	1	\$368.00	\$368.00
32:	Active Wide Band Antenna MPN: UA834WB	1	\$133.00	\$133.00
33:	Wireless Boundary Microphone Transmitter MPN: ULXD6-H50	16	\$428.00	\$6,848.00
34:	2 Bay Networked Docking Station MPN: SBC-250-US	1	\$337.00	\$337.00
35:	Single-Channel Digital Wireless Receiver (H50: 534 to 598 MHz) MPN: ULXD4-H50	1	\$800.00	\$800.00
36:	25' Antenna Cables MPN: UA825	2	\$41.00	\$82.00
37:	AV Bridge 2x1 MPN: 999-8250-000	1	\$2,192.00	\$2,192.00
38:	RoboSHOT 12E HDBT OneLINK HDMI System MPN: 999-99600-100W	2	\$3,989.00	\$7,978.00
39:	AV Series 12-Port/8 PoE+ Gigabit Managed Switch with US Power Cord MPN: AMS-1208P	1	\$574.00	\$574.00
40:	MicroFlex Pro AV/IT Certified 4K60 18G High Speed HDMI Cable with ProGrip Jet Black 6ft	9	\$22.00	\$198.00
44.	MPN: MHD18G-6PROBLK	Ū	Ψ22.00	V100.00
41:	Standard Series 3.5mm Stereo Mini Plug to 2 RCA Plugs Audio Cable 6ft MPN: MPS-2PP-6ST	2	\$3.00	\$6.00
42:	6ft Cat6 Snagless Unshielded (UTP) Ethernet Network Patch Cable - White MPN: 04036	4	\$4.00	\$16.00
43:	Female Phoenix to 3-Pin Female XLR MPN: PHX-206F-BULK	16	\$7.00	\$112.00
44:	West Penn Wire 291 2 Conductor Shielded Mic Cable 500 Feet Black MPN: 25291BBK0500	1	\$100.00	\$100.00
45:	1P 16G Speaker Wire PLENUM 500' MPN: 25225BBK500	1	\$384.00	\$384.00
46:	DigitalMedia 8G™ Cable, plenum, 500 ft spool MPN: DM-CBL-8G-P-SP500	2	\$335.00	\$670.00
47:	MaxBlox D-SUB Termination System Female DB9 MPN: CD-MX9F	3	\$16.00	\$48.00
48:	MaxBlox D-SUB Termination System Male DB9 MPN: CD-MX9M	3	\$17.00	\$51.00
49:	MaxBlox Half Hood with Strain Relief MPN: CD-MX915HH	3	\$4.00	\$12.00
50:	Black 8.5mm RJ45 Colored Boot MPN: RJ45B-BLK	30	\$1.00	\$30.00
51:	(ALT DM CON) RJ-45 Shielded plug, 50u gold plated, 8 position, 8 conductor computer connector	30	\$2.00	\$60.00
52:	MPN: RJ45P-S MicroFlex Pro AV/IT Certified 4K60 18G High Speed HDMI Cable with ProGrip Jet Black			
	15ft MPN: MHD18G-15PROBLK	4	\$74.00	\$296.00
53:	6' USB 3.0 Type A Male to Type B Male Cable MPN: 54174	2	\$7.00	\$14.00
54:	Two Door Credenza MPN: CR2000EX	1	\$2,182.00	\$2,182.00
55:	Rackscrews 10-32, 3/8' Long,100 pc. MPN: HPQ	1	\$22.00	\$22.00
56:	Blank Panel 1RU Steel Contractor Pack 12 MPN: FEB1-CP12	1	\$79.00	\$79.00

Utility Rackshelf, 1RU, 14.75' D 57: 3 \$32.00 \$96.00 MPN: U1 Rack Mount Surge Eliminator & Power Conditioner w/ Remote, 1RU, 120V/15A ${\bf MPN}\colon$ SX-1115-RT 58: 2 \$674.00 \$1,348.00 Hook & Loop Cable Ties 0.5 x 8' (Black, 50-Pack) MPN: WTI-508 59: 1 \$13.00 \$13.00

Sub-Total: \$77,180.00

Shipping & Handling: Included

Taxes: Tax Exempt

Total for Item 1: \$77,180.00

This quote will expire November 12, 2021.

To expedite your order, please include your quote number with your Purchase Order.

Item 2

Category	Description	Qty.	Unit Price	Ext. Price
System Type:	Accessories			
1:	OPP13471 Howard Technology Solutions - Labor MPN: OPP13471 Labor	1	\$5,466.00	\$5,466.00
2:	OPP13471 Howard Technology Solutions - Programming/Commissi oning MPN : OPP13471 Programming/Commissioning	1	\$2,489.00	\$2,489.00
3:	OPP13471 Howard Technology Solutions - Standard Service Contract MPN: OPP13471 SSC	1	\$1,721.00	\$1,721.00
4:	OPP13471 Howard Technology Solutions - Misc BOM MPN: OPP13471 Misc BOM	1	\$748.00	\$748.00
5:	OPP13471 Howard Technology Solutions - Misc. Lift Rental MPN: OPP13471 Misc. Lift Rental	1	\$1,495.00	\$1,495.00
6:	OPP13471 Howard Technology Solutions - Contingency Fee MPN: OPP13471 Contingency Fee	1	\$4,500.00	\$4,500.00
		Sub-Total: Shipping & Handling :		\$16,419.00
				Included

Total for Item 2: \$16,419.00

This quote will expire November 12, 2021.

To expedite your order, please include your quote number with your Purchase Order.

Total for all pre-configured items

Sub-Total: \$93,599.00

Shipping & Handling : Included

Taxes:

Taxes: Tax Exempt

Tax Exempt

Total: \$93,599.00

Notes:

NASPO ValuePoint Contract #MNWNC-114 / State Contract #43211500-WSCA-15-ACS

Pricing and availability subject to change without notice. Packaging, Shipping, and Handling fees are not included unless specifically stated. Prices and lease payments do not include applicable taxes. Ship dates are approximations and are not guarantees. Quick ship items not available in Alaska, Hawaii, or outside the United States. Specific state laws may affect shipment of products.

Any order for kiosks must be canceled prior to 21 days from the scheduled date of shipment to avoid incurring a 50% cancellation fee. Any cancellation made within that 21-day window will automatically incur a charge equivalent to 50% of the total kiosk order being canceled.

Howard reserves the right to charge a 25% restocking fee for cancellation of a purchase order after Howard has commenced fulfillment of the order. Howard may, with notice, cancel any purchase order at any time without any liability to the Purchaser. Howard reserves the right to charge the Purchaser full purchase price for delaying shipment of a purchase order for an extended period of time which then results in the cancellation of said order.

Given the current uncertainties related to international trade, Howard hereby reserves the right to unilaterally revise the prices quoted herein in the event its manufacturing or procurement costs for such goods increase due to the imposition by the United States or any other country of new or higher tariff(s) or of any other similar tax, fee or charge.

If Purchaser fails to pay any invoice in full within the time quoted herein, Howard may, without notice, accelerate the due date of all outstanding invoices and require that all outstanding invoices, including any interest thereon, be immediately due and payable in full.

Howard's product warranties and return policies and related information, which are available at https://www.howardcomputers.com/support/warranties.cfm and https://www.howardcomputers.com/support/returnpolicy.cfm, are fully adopted and incorporated herein by reference. These may also be obtained by calling 1-888-912-3151 or emailing webmaster@howardcomputers.com.

THIS QUOTATION IS EXPRESSLY LIMITED TO, AND EXPRESSLY MADE CONDITIONAL ON, PURCHASER'S ACCEPTANCE OF THE TERMS SET FORTH OR INCORPORATED HEREIN; HOWARD OBJECTS TO ANY DIFFERENT OR ADDITIONAL TERMS.